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General Instructions: .
(i) All questions are compulsory.
" (i) The guestion paper consists of 30 quéstions divided irto 4 Sections, A, B, Cand D.

(iii) Section-A comprises of 6 questions of 1 mark each. m

Section-B comf}ri.sé.i of 6 queftiom of 2 marks each.
~ Section-C comprises of 10 questions of 3 marks each and Section-D comprises of 8 questions of 4 marks each.
iv) Use of calculator is not permilted.
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SECTION-A -

| ... AB BC ,
. In AAB d ADEF, — =—, imilar?
—1 | n ,- 3C a;‘i_ ‘ DE D are they Sl ar
/2:” If sin0 = CL then find the value of (2cot”  + 2)
3.~ A bag contains 3 red balls, 5 white l;sz-ills and 7 black balls. What is the probability that a ball drawn
/" from the bag at random will be neither red nor black? 08, ¢ § am = 3+4n, ‘R’“" 10 th Teyom.

_4. What is the solution of the pair of equationy = 0 and y = - 3?

5. Which measure of central tendency is given by the x-coordinate of the point of intersection of the

‘more than ogive’ and ‘less than ogive’?
6. Give an example of ‘polynomials f(x), g(x), ¢(x} and r(x) satisfying f{x) = g(x).g(x) + r(x), where
degree of r{x) = 0. @)
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SECTION-B | S
7. Pand Q are the points on the sides DE and DF of a triangle DEF such that DP = 5 cm, DE = 15 cm, .
DQ =6 cm and QF = 18 cm. Is PQ | EF ? Give reasons for your answer. 2-—-‘%
8 Ifsin®A = 2 sin A then find the value of A. c;/,{
. | : '/ﬁ A OCE. _
Draw o A ABC with side pe=66"™, AR =5 cm, L apc= fo°
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9. Construct the cumulaﬁve frequency distribution of the following distribution: - . 2, o
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1'0. Find the relation betweena and b ifx = 2,y = 3 is a solution of a pair of equations 2x -3y 4+ Q. = O
and 2x + 3y-b+ 2 =0.

+ —H- H .-‘..- e

11. Write the quadratic polynomial, sum of whose zeros is 2y/3 and their product is 2.

12. Golve for 2¢, _X=I -3 \

- ' 20—3 ' U -4 -3‘5‘ (14:/:2,1//
SECTION-C

13. Prove that‘gﬁ is an irrational number.

14. Use Euchid’s Dw:swn Lemma to show that the square of any posmve integer is either of the form

3m or 3m + 1 for some mleger m.

15. Solve the following system of equations for x and y:
(a-b)x + (a + b)y = a® - 2ab - b?
@+ b)(x +9) =a°+ b

16. Represent the followmg system of linear equations graphically, From the graph, find the pomu

where the lines | Interscct y-axis.
N

3x+y—6 0
2x-y-5= 0 . |
17. Prove that (sin 8 + cosec 8)° + (cos 0 + sec 9)2=7+tan 0 + cot® 6.

BE AC
18. In Fig. 1, DB 1. BC, DE 1. AB and AC L BC. vaethat DE ~ BC \% (_ﬂ UL
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19. Check whether the polynomial g(x) is factor of p(x) \shere a AN . B /2 ‘\ |
g(t)—x + Sx+ | | | | \ %ﬁ%% ,
px) = 3x! + 5% - T + 2.+ 2. Y, %n/

., 20. An aircraft has 120 passenger seats. The number of scats occupied during 100 flights is given in %ﬁ/’ %
the following table: CBS

m 104-108 | 108112 | 119-116 | 116-120 |.

32 18 135

"-':"""1

seats" A

Num"beﬂ’bf

Fi
Detcrmme the mean number of-seats occupied over the fhght;

'21. Two numbers are in the ratio 5 : 6. If 8 is subtracted from each of the numbers the ratio becomes
4:5. de the numbcrs ‘
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22, Using Euclid's division algorithm, find the HCF of 56, 96 and 404. _@{3 E’{C‘]
SECTION-D

»
'93. Find k so that x> + 2x + k is a factor of oxt 4 x* - 14x* + bx + 6. Also find all the zeros of theawo

A\ polynomial.
24. A survey regarding the h
& following data was obtained.

Find the mean, median and mode.

/25./Provc that the ratio of the areas of two similar triangle is equal to the ratio of squares of their

corresponding sides.
cot A —cos A _ COsec A-1

cot A+cos A cosec A+1

eights (in cm) of 50 girls of class X of a school was conducted and the

26. Prove that:
v

. 27. In the Fig. 2, given below, OB is the perpendicular bisector of the line segment DE, FA Lﬁﬁ'&rﬂi/
\

. . R k| 75
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28. It can-take 12 hours to fill a swimming pool using two pipcs. If the pipe of larger diarﬁetér is used
 for4 hours and the pipe qf smaller diameter for 9 hours, only half the pool can be filled: How lzﬁ'ng
would it take for each pipe to fill the poql separately? - 1 ’
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‘/2{If cosec 8 + cot 6 = p, then prove that cos 6 =
J

30. The annual rainfall record of a city for 66 days is given in the {'E:llnwi*ng"thblc.
fallancmasy|  0-10 10-20 20-30 3040 40-5( 5060

R

Calculate the median rainfall using ogives (of more than type and of less than type).
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